
Time: 10 Minutes Paper Science 8 Total Marks: 10

1st Month, 4th Week, 1st Day Syllabus: Unit # 2, CNS(Brain + forbrain + midbrain)

Q.No.1 Encircle the correct answer from the following choices. (0.563)


i. _____acts as a control centre of the whole nervous system.

 
(a) Peripheral nervous system  (b) Central nervous system 
(c) Lymphatic system   (d) Respiratory system 

ii. Human brain consists of billions of:   
(a) Sensory neurons  (b) Motor neurons 
(c) Inter neurons  (d) Nerve impulses  

iii. The largest part of the brain is: 
(a) Forebrain  (b) Midbrain   (c) Hindbrain  


 (d) Cerebellum  

iv. Human brain is enclosed in a bony skull called:


(a) Cranium  (b) Cerebrum 
(c) Thalamus  (d) Hypothalamus 
v. _____lies at the base of thalamus.  
(a) Cerebrum  (b) Pons 
(c) Hypothalamus  (d) Medula oblongata  






vi. _____receives information from sense organs which is passed to the

appropriate part of the forebrain.

  

 

(a) Cranium  (b) Cerebrum 
(c) Hypothalamus  (d) Peripheral nervous system 
Q.No.2. Write short answers. (224) 
(i) Write the function of Hypothalamus. 
(ii) What is midbrain? 
Q.No.3. Write long answer. (3) 
(i) Write a note on forebrain. 
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